1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 08/13/05' o LJC 08/13/05’
ITEM | PART NAME Q'ty NOTES B 439 4] f YCH 09/13/07’ N LJC 09/13/07"
— I 1 PLASTIC HOOD 2 | ABS C SRR 2 R | YCH 07/18/08’ Y% LJC 07/18/08"
—— (T 1l | [ 2 LA LONG BOLT 2 #4-40 D " A A YCH 05/20/10° a2 LJC 05/20/10°
- ‘ - 2.2| SHORT BOLT 2 #4—40 E M3+ 12T yM3#10 | YCH 08/30/10’ Y%
| L 3 NUT 2 M3 NOTES:
* LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
24.99 5 SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 09 X X X X ><1
7.1| METAL WASHER 2 Washer type
30.8 7|7.2| PLASTIC—1 WASHER 2 ; ’\é\etat‘ 1 (L Kt )
. astic— ocC e
12.0 7.3| PLASTIC-2 WASHER 2 3. P\osticfZ(ScrewytSpe)
W Bolt type
; ER L: Long
= — A S: Short
— ‘ L= —Packing type
| 1: Mix packing
‘ 2: Separation packing
! Q: Full packing
‘ ©of = Cover Material
‘ B ™ P: Plastic(ABS)
|' ‘ Cover Color
N Z §> L L A: Gray
|- ‘ B: Black
| V: Ivory
Position
‘ 5 o 09: 9pin
o .
y 1.0
s UNC#4—40 M3 3
N
7.0 S =
i 0 5.40
R — Short BOLT NUT t=2.3mm
[ M 11.8 4 5 \ 4.8
T g (= T Q, paeCy
: L I} i } | 10.0 /_ Q@ 1
¥ | | X
\ L ‘ \——r } ”3\{%, o
54 DT >
4—40 UNC 8 g @ /-3 :
e ™)
g o o Metal Plastic—1 Plastic—2 LONG SCREW SMALL WASHER
(g §> = - - 1 GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
14.Q] PROJECTION @ S 4 D—SUB 9pin Hood
: M X +0.60 X 15 UNITS mm
6.6 < 7 . . . I
13.5 S X £0.38 X =*3 SHEET SIZE A4 SERIES | DS1045 SERIES
30.5 XX £0.25 XX 22
»
44 DRAWING TYPE |COSTOMER )T% ﬁ]}] EE ? %‘ I}E Z\ a
Long BOLT SCALE 1:1 | SHEET [ 1 OF 1
DRAWING NO. | C—Ds1045—09xxxxx—E | €onnFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
CONNFLY

Administrator
GSDZ


1 2 3 | 4 5 | 6 | 7 | 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 05/18,/05’ ~ LJC 05/18/05°
ITEM | PART NAME Qty NOTES B A1 ] YCH 09/13/07 ~ LJC 09/13/07’
,—n—‘—nﬁ‘ ! PLASTIC HOOD 2| ABS c dem el R | YCH 07/18/08° ~ LJC 07/18/08’
“—m—“' 5 [21] LONG BOLT 2| #4-40 D WAt %% | YCH 05/20/10° ~
| 2.2| SHORT BOLT 2 #4-40 NOTES:
3 NUT 2 M3 1. Hardwares are all Nickel plated.
33.32 ‘ "
= A 2 LONG SCREW 5 3 2. PART NUMBER CODE:
5 SMALL WASHER 2 DS1045 — 15 X X X X XLW -
asner e
6 SHORT SCREW 2 M3 it
7.1| METAL WASHER 2 M3 2: Plastic—1(Lock type)
7172 | PLASTIC_1 WASHER 5 ABS 3: Plastic—2(Screw type)
> ABS Bolt type
7.3 | PLASTIC—2 WASHER L: Long
S: Short
1 _\ ‘ Packing type
E | 1: Mix packing
\ ! 2: Separation packing
| Q: Full packing
! Cover Material
2 P: Plastic(ABS)
P — 137 Cover Color
0~ : A: Gray
" ! % 1.0 B: Black
[ s UNC#4—40 V: lvory
q Position
f—L—JrH——— 15: 15pin
Short BOLT
12.0
9.9 0> ‘”4\2@\ LONG SCREW NUT 122 3mm
|
<
Y w’q U | [
4.8
] J 2 [e] Ez 6 7.z 5 |
| libE A S WL Sy & e
\_ ‘/?2‘ gj ! 2’3\2
P J M2.5 | | S ge— < L 0
2 7.5
Metal Plastic—1 Plastic—2 | :
_ — - - - = - = - = - = - = - — [
A é e SHORT SCREW SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE [pPROJECTION I TITLE
— \ = ¢ @inma Sl lLELEE. 15pin Hood
4.0 X. £0.60 X. 5
6.6 3 N X £0.38 X x3 SHEET SIZE A4 SERIES | DS1045 SERIES
13.5 2 < XX £0.25 XX x2
305 DRAWING TYPE [COSTOMER )1% ﬁl;] EE ? %‘ BE Z\ a
Lm““BOU SCALE 1:1 [SHEET [1 OF 1
9 DRAWING NO. | C-DS1045-15xxxxx-D | comnFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
GSDZ

Administrator
CONNFLY


1 2 4 5 | 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05"
ITEM PART NAME Q'ty NOTES B IR YCH 09/13/07’ N LJC 09/13/07
54.0 ! PLASTIC HOOD 2 ABS C AEFLGERI IR S | YCH 07/18/08’ v LJC 07/18/08’
47704 p[21] LONG BOLT 2| #4-40 D B4t %1 | YCH 05/20/10° ~
[ - 2.2| SHORT BOLT 2 #4-40
11.0 ~ 3 NUT 2 M3 NOTES: .
| | | [ | 2w L e e s
Erl: ! :I'Iﬂ 5 SMALL WASHER | 2 DS1045 — 25 X X X X X
1\ T J 6 SHORT SCREW 2 M3 T Washer type
1: Metal
l 7.1| METAL WASHER 2 M3 2 2: Plastic—1(Lock type)
7 |7.2] PLASTIC—1 WASHER 2 ABS _\ ] ;3'7 3: Plastic—2(Screw type)
7.3| PLASTIC-2 WASHER | 2 ABS o UNC#4—40 Bolt type
] L: Long
8.0 S: Short
% — = |
Packing type
,.: i t 1: Mix packing
‘ 2: Seporotio_n packing
i Short BOLT Q: Full packing
H Cover Material
‘ P: Plastic(ABS)
l\ 3 ————Cover Color
A: Gray
‘ B: Black
‘ M3 V: Ivory
! —— Position
! e 25: 25pin
|
|
|

e

(-

NUT t=2.3mm

9.5

o |
M3 1?.0 | @/‘?’ ;:g
J) o i I
| 1 == lam \ i
[ T 6.0 Q
M3 &
Plastic—1 Plastic—2
5 _ L __ 'y 1. ) ' L1 |
4—40 UNC g - SHORT SCREW
L \ GENERAL TOLERANCE| ANGLE TOLERANCE —F [TITLE
] \ PROJECTION [ @ ITEP IR 25pin Hood
— ' X. +0.60 X, 45 UNITS mm
Y o X +0.38 X '+3 SHEET SIZE A4 | SERIES | DS1045 SERIES
s 2 ” XX £0.25 XX 42
30.5 DRAWING TYPE [COSTOMER )E #]] EE; % ﬁ‘ I:{E j
44 SCALE 1:1 |SHEET [1 OF 1
Long BOLT DRAWING NO. | C—-DS1045—25xxxxx—D | €onnFLY CONNFLY ELECTRONIC CO. LTD
1 2 4 | 5 6 I 7 I 8



Administrator
GSDZ

Administrator
CONNFLY


1 2 3 4 5 | 6 | | 8
BoM LiST REV. DESCRIPTION DRAWN CHECKED APPROVED
, A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
ITEM | PART NAME aty NOTES B A8 YCH 09/13/07" ~ LJC 09/13/07’
L TS’Q?‘BCO*:SOD 5 ;iio c s RLERIE2 ) | YCH 07/18/08" ~ LJC 07/18//08"
2 " erorT BoLT > T #a=s0 D W48 | YCH 05/20/10° ~
3 NUT 2 M3
NOTES:

4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
6 SHORT SCREW 2 M3 DS1045 — 37 XX XXX

71| METAL WASHER | 2 | M3 Jasher type
7 |7.2| PLASTIC—1 WASHER 2 ABS 2: Plastic—1(Lock type)

7.3| PLASTIC—2 WASHER 2 ABS 3: Plastic—2(Screw type)

Bolt type

L: Long

S: Short

Packing type

1: Mix packing

2: Separation packing

. 13.7 Q: Full packing
2 Lo Cover Material
‘ Ko’ UNC#4-40 P: Plastic(ABS)
q t————Cover Color
7,67\7,“},7, A: Gray
B: Black
L | V: Ivory
o - 7Position_
- Short BOLT 37: 37pin
3 4
M3
| M3
= x —\__ @
NUT t=2.3mm LONG SCREW
4.8
5 | [
5} 4 l
M3 e
/ ‘ 15‘.0 | @Wg a ||‘, T
o 4 (8==¢ Y
L - i E\Dism;fw A Al E\cft?c—z Ll L= '}
2 ‘\ SHORT SCREW
4—40 UNC g
2 3 GENERAL TOLERANCE | ANGLE TOLERANCE {} TITLE
o h 1\ EE?éECTION @ 4 D—SUB 37pin Hood
i ' X. £0.60 X. %5 mm
4.0 X +0.38 X %3 SHEET SIZE A4 SERIES | DS1045 SERIES
sl & o XX £0.25 XX £ s
' 505 ° DRAWING TYPE [COSTOMER Jie ﬁ[}] Eﬁ ? ﬁ IEE /A.\ a
44 SCALE 1:1 |SHEET [1 OF 1
1 2 3 4 | 5 6 I 7 I 8



Administrator
GSDZ

Administrator
CONNFLY


2 3 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 05/24/11° ~
69.50
61.00
NOTES:
1. PART NUMBER CODE:

DS1045 — 50 X X X

Packing type
1: Mix packing
2: Separation packing

1
11.10 53.80 Cover Color
A: Gray
B: Black

Cover Material

CD P: Plastic(ABS)

Position
50: 50pin

49.79

45.90

L :
M3 § UNCH#4—40 &
12.72 O @/
5.0
NUT t=2.3mm 205 6.0
i)
& S,
Q% Q/_\b’ 4 BOLT
M3 ;‘H.S
L ' LONG SCREW
6
5
M3 3.5
) Ero
P!
BOM LIST LONG SCREW BIG WASHER
ITEM PART NAME Q'ty NOTES
1 PLASTIC HOOD 2 ABS
GENERAL TOLERANCE| ANGLE TOLERANCE {E]» TITLE
2 BOLT 2 #4-40 TROJESTION @ 4 D—SUB 50pin HOOD
3 [t 2 [ws X. +0.60 X, %5 UNITS mm
4 M3*10 SCREW 2 M3 X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
5 |M3*2SCcREW | 2 [ W3 XX +0.25 XX £2
6 BIG WASHER 2 M3 E' ! Iy /\ —_—
DRAWING TYPE [CUSTOMER h%‘ /]EI Z_\ =
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C—DS1045—50XXX connFfLY CONNFLY ELECTRONIC CO. LTD
2 3 4 | 5 6 I 7 I 8



Administrator
GSDZ

Administrator
CONNFLY


